GCSE Maths Takeaway 53 - Using Place Value

Questions provided by

DJustMaths

Using the information that 246 x 89 = 21 894
write down the value of

2.46 * 0.89

.

What should go in the shaded box?

2189.4 218.94
21.894 2.1894

If 86 x 94 = 8084,
80.84 + 9.4 =....

A) 0.86 C) 86
B) 8.6 D) 860
|

If 27 x 56 = 1512,

151.2 + 0.56 =....

A) 0.27 C)2.7
B) 27 D) 270
[ —

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

This quiz was created on www.diagnosticquestions.com.



Correct Answer: ABCD
If 19 x 64 = 1216, Explanation:

Correct Answer: ABCD
If 18 x 23 = 414, Explanation:
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